RS22 SPARE PARTS KIT 2"

RANDOM SIDEDRIVE CARTON SEALER

stlPatk

TOP & BOTTOM SEAL OPERATOR REQUIRED RANDOM CARTONS

2" Spare Parts Kit Part#:;

RS22SK

2 27280031 Bearing, Ball 60032z

2 900600SBAC Belt, 1860mm X2" Blk

2 27280091 Bearing, Ball 6202zz (Ja)

4 2728102 Bearing, Linear M20

1 10096-1 Spring, Main (Top)

1 10096-2 Spring, Main (Bottom) Chrome

4 10116 Bushing, Bumper M8x7

4 10117 Bumper, Rubber M15x7

2 10122 Blade, Cutter 2"

2 AC231300 Roller, Rubber Front 2"

2 AC232000 Roller, Rubber Rear 2"

2 A1125001 Rubber, Coupler, Blue, (T-hg)

2 A1122000 Coupler, Drive Belt M35x39

2 9510303 Spring, Front Roller

2 9510294 Washer, M21xm10x2 (Plastic)

2 10315 Cushion, Blade 2"

2 9510304 Spring, Blade Guard

4 2706401 Ring, E-clip M3
WWW.BESTPACK.COM VERSION 3.5_0622

EXPERIENCE « COMMITMENT « COMMUNITY

© 2022 BestPack Packaging Systems. All rights reserved. This document is BestPack Public Information.



RS22 SPARE PARTS KIT 3"

RANDOM SIDEDRIVE CARTON SEALER

BestPack

TOP & BOTTOM SEAL OPERATOR REQUIRED RANDOM CARTONS

3" Spare Parts Kit Part#:

RS22SK-0

2 27280031 Bearing, Ball 6003zz
2 900600SBAC Belt, 1860mm X2" Blk
2 27280091 Bearing, Ball 62022z (Ja)
4 2728102 Bearing, Linear M20
1 10096-1 Spring, Main (Top)
1 10096-2 Spring, Main (Bottom) Chrome
4 10116 Bushing, Bumper M8x7
4 10117 Bumper, Rubber M15x7
2 10122-0 Blade, Cutter 3"
2 AC331300 Roller, Rubber Front 3"
2 AC332000 Roller, Rubber Rear 3"
2 A1122000 Coupler, Drive Belt M35x39
2 A1125001 Rubber, Coupler, Blue, (T-hg)
2 9510303 Spring, Front Roller
2 9510294 Washer, M21xm10x2 (Plastic)
2 10315-0 Cushion, Blade 3"
9510304 Spring, Blade Guard
4 2706401 Ring, E-clip M3
WWW.BESTPACK.COM VERSION 3.5_0622

EXPERIENCE « COMMITMENT « COMMUNITY

© 2022 BestPack Packaging Systems. All rights reserved. This document is BestPack Public Information.



RS22 SPARE PARTS KIT 2" CONTINUED

2" SPARE PARTS KIT PART #: RS22SK

QUANTITY PART NUMBER DESCRIPTION

2 9510305 Spring, Support Tape Erect
4 9510300 Spring, Cutter Blade Arm

Note: Part numbers, descriptions, and pricing are all subject to change without prior notification.

7/ For more information please go to:
>@ BESTPACK WWW.BESTPACK.COM or call us at 1.888.588.2378

© 2022 BestPack Packaging Systems. All rights reserved. This document is BestPack Public Information.



RS22 SPARE PARTS KIT 3" CONTINUED

3" SPARE PARTS KIT PART #: RS22SK-0

QUANTITY PART NUMBER DESCRIPTION

2 9510305 Spring, Support Tape Erect
4 9510300 Spring, Cutter Blade Arm

Note: Part numbers, descriptions, and pricing are all subject to change without prior notification.

7/ For more information please go to:
>@ BESTPACK WWW.BESTPACK.COM o call us at 1.888.588.2378

© 2022 BestPack Packaging Systems. All rights reserved. This document is BestPack Public Information.



RS22 SPARE PARTS KIT 6"

RANDOM SIDEDRIVE 6" CARTON SEALER

TOP & BOTTOM SEAL OPERATOR REQUIRED RANDOM CARTONS

6" Spare Parts Kit Part#:

RS22SK-6

2 900600SBAC Belt, 1860mm X2" Blk

2 27280031 Bearing, Ball 6003zz

2 27280091 Bearing, Ball 6202zz (Ja)

4 2728102 Bearing, Linear M20

2 ACB31300 Roller, Front Rubber 6"

2 ACB33300 Roller, Foam Rear W/ Bushing 6"

2 ACB11101 Blade, Cutter 6"

2 10096-1 Spring, Main (Top)

2 10096-2 Spring, Main (Bottom) Chrome

4 10117 Bumper, Rubber M15x7

4 10116 Bushing, Bumper M8x7

2 NTOO0153 Screw, Socket Pan Hd M5x45

1 ACB10400-NT Shaft, Groove 6" - Dual Springs M8x181

12 AC611900 Spring, Cutter Blade Arm

2 A1122000 Coupler, Drive Belt M35x39

2 A1125001 Rubber, Coupler, Blue, (T-hg)

2 9510303 Spring, Front Roller

2 9510294 Washer, M21xm10x2 (Plastic)
WWW.BESTPACK.COM VERSION 3.5_0622

EXPERIENCE « COMMITMENT « COMMUNITY

© 2022 BestPack Packaging Systems. All rights reserved. This document is BestPack Public Information.



RS22 SPARE PARTS KIT 6" CONTINUED

6" SPARE PARTS KIT PART #: RS22SK-6

QUANTITY PART NUMBER DESCRIPTION

2 ACB11720 Cushion, Blade 6"
4 9510304 Spring, Blade Guard
4 2706401 Ring, E-clip M3

Note: Part numbers, descriptions, and pricing are all subject to change without prior notification.

7/ For more information please go to:
>© BESTPACK WWW.BESTPACK.COM or call us at 1.888.588.2378

© 2022 BestPack Packaging Systems. All rights reserved. This document is BestPack Public Information.



RS22 SPARE PARTS KIT 2"

STAINLESS RANDOM SIDEDRIVE CARTON SEALER

TOP & BOTTOM SEAL OPERATOR REQUIRED RANDOM CARTONS

2" Spare Parts Kit Part#:;

RS22STSK

QUANTITY PART NUMBER DESCRIPTION

2 27280045 Bearing, Ball 6003zz St
2 900600SBAC Belt, 1860mm X2" Blk
2 2728080 Bearing, Linear M20 St
4 2728107 Bearing, Linear M20 St
1 10096-1S Spring, Main Top Stainless
1 10096-2S Spring, Main Bottom Stainless
4 10116S Bushing, Bumper St
4 10117 Bumper, Rubber M15x7
2 10122 Blade, Cutter 2"
2 AC231300 Roller, Rubber Front 2"
2 AC232000 Roller, Rubber Rear 2"
2 A1125001 Rubber, Coupler, Blue, (T-hg)
2 A1122000 Coupler, Drive Belt M35x39
2 9510303S Spring, Front Roller Stainless
2 9510294 Washer, M21xm10x2 (Plastic)
2 10315 Cushion, Blade 2"
2 9510304S Ring, Retaining M4 Stainless Steel
4 27064015 Ring, E-clip M3
WWW.BESTPACK.COM VERSION 3.5_0622

EXPERIENCE « COMMITMENT « COMMUNITY

© 2022 BestPack Packaging Systems. All rights reserved. This document is BestPack Public Information.



RS22 SPARE PARTS KIT 2" CONTINUED

2" SPARE PARTS KIT PART #: RS22STSK

QUANTITY PART NUMBER DESCRIPTION

2 9510305S Spring, Support St
4 9510300S Spring, Cutter Blade Arm St

Note: Part numbers, descriptions, and pricing are all subject to change without prior notification.

7/ For more information please go to:
>© BESTPACK WWW.BESTPACK.COM or call us at 1.888.588.2378

© 2022 BestPack Packaging Systems. All rights reserved. This document is BestPack Public Information.



